
 

HỌC TẬP - LỚP 4  - TOÁN LỚP 4 

Giải bài 2 trang 46 SGK Toán 4 tiết Luyện tập 

Bài 2 (trang 46 SGK Toán 4): Tính bằng cách thuận tiện nhất: 

a) 96 + 78 + 4 

67 + 21 + 79 

408 + 85 + 92 

b) 789 + 285 + 15 

448 + 594 + 52 

677 + 969 + 123 

Lời giải: 

a) 96 + 78 + 4 = 96 + 4 + 78 = 100 + 78 = 178 

67 + 21 + 79 = 67 + 100 = 167 

408 + 85 + 92 = 405 + 92 + 85 = 500 + 85 = 585 

b) 789 + 285 + 15 = 789 + 300 = 1089 

448 + 594 + 52 = 448 + 52 + 594 = 500 + 594 = 1094 

677 + 969 + 123 = 677 + 123 + 969 = 1769 

 

https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-4-c154
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/giai-bai-2-trang-46-sgk-toan-4-tiet-luyen-tap
https://doctailieu.com/giai-bai-2-trang-46-sgk-toan-4-tiet-luyen-tap

